
Follow me

Kit for switch 
no.2 

Sliding door

Kit 29503149

www.troax.com

A
rt no

: 88753149 ver. 01       P
rint no

: 201902-3840-E
N

Machine
guarding



5 413 8 3

www.troax.comKit 295031492/5

A
rt

 n
o

: 8
87

53
14

9 
ve

r. 
01

Kit for switch no. 2 sliding 29503149

x2
M8x35

x2
M8

x4
M6x16

Bag for kit 3149 88693149 

*Not included in kit

 Telemecanique XCS-E *

 Euchner TZ *
 Guardmaster TLS-GD2 *

 Schmersal AZM161 *
x2x1 x1

x2
M5x45

x1
M5x45

x2
M5x25

x3
M5x20

x2
M5x25

x2
M5x25

x1
M5x25

x5
M5

x5
M5

x2
4,8x14

Fits switches



www.troax.com Kit 29503149 3/5

A
rt no

: 88753149 ver. 01

 Guardmaster TLS-GD2 (M5x20)  Euchner TZ (M5x45)

 Schmersal AZM161 M5x45)  Telemecanique XCS-E (M5x20)

 Guardmaster TLS-GD2 (M5x20)

 Schmersal AZM161 (M5x45)

Bag for kit 3149

1b

1a

M5x20

M5x45

Bag for kit 3149

M5

M5

M5x20

M5x45

M5

M5

 Euchner TZ (M5x45)

 Telemecanique XCS-E (M5x20)

48

48



www.troax.com4/5

A
rt

 n
o

: 8
87

53
14

9 
ve

r. 
01

Kit 29503149

 Guardmaster TLS-GD2 (M5x25)  Euchner TZ (M5x20)

 Schmersal AZM161 (M5x25)  Telemecanique XCS-E (M5x25)

2a

2b
 Guardmaster TLS-GD2 (M5x25)  Euchner TZ (M5x20)

 Telemecanique XCS-E (M5x25)

Bag for kit 3149

M5x25

M5x20

M5x25

M5

M5

Bag for kit 3149

M5x25

M5x20

M5x25

M5

M5

 Schmersal AZM161 (M5x25)

48 3

48 3



www.troax.com

A
rt no

: 88753149 ver. 01

Kit 29503149 5/5

Bag for kit 3149

M6x16

5

3

Bag for kit 3149

4

5
Bag for kit 3149

6

Bag for kit 3149

7

M8

5
M5x45M5x25

M5x25

M5x25

5

M8x35

13

Bag for kit 3149
4,8x14

8


